Index Numbers and Real values

Indexes

Often in Economics we have to compare data over time.  This can be difficult for a number of reasons:

1. Often the values are very large and so difficult to calculate;

2. It is hard to see how much a number has changed proportionately when we compare it against another number (i.e. how much is $2 increase in the price of a car or a cinema ticket as a percentage of original value);

As a result of these difficulties people often use what we call index numbers.  These are used to measure changes over time.  These work around the system of a base year.  A certain year is taken and whatever the value is in that year this is set to 100.  It is not important which year it is.  
If in 1999 the average price level was $5.60 and this was our base year, this would be equal 100.  If in 2000 the average price level were $6.20, we would apply the following formulae:

(figure in present year  /  figure in base year)  * 100
Work out the index numbers for the following figures with 2000 as your base year:

	Year
	1996
	1997
	1998
	1999
	2000
	2001
	2002
	2003
	2004
	2005

	Actual Figures
	1756
	2000
	1968
	2224
	2351
	2452
	2485
	2985
	3001
	2755

	Index Number
	
	
	
	
	100
	
	
	
	
	


Real and Nominal or Money Values

Whenever we look at figures over time we have to be careful of inflation (a tendency for the general price level in the economy to increase).  As a result of this Economists make a distinction between real and nominal and money figures.

Nominal or Money Figures are the raw data, which have taken no account of inflation

Real Figures are figures that take into account inflation.

 We normally work out real figures as: (the nominal figure / the price level or RPI) *100
Task:

Complete the following table and then answer these questions:

1. State what advantages there are for using real wages and index number when comparing 2005 and 2000.

2. What is the approximate percentage change in real wages between 1995 and 1996?

3. Assume the data in the table refers to the money and real wages of a particular group of workers over the period 1995 – 2010.  The trade union representing the workers is currently negotiating a new pay agreement for 2011 with an employer.  The union wishes to restore the real wages of its members to the level enjoyed in 2005.  If the price index (col. 2) in 2011 stands at 160, calculate the money wages needed to restore wages to their 2005 level.

	1
	2
	3
	4
	5

	Year
	Retail Price Index 2005 = 100
	Nominal or Money Wages
	Real Wages at 2005 price
	Real Wage Index

	1995
	70
	50
	
	

	1996
	75
	60
	
	

	1997
	80
	80
	
	

	1998
	85
	90
	
	

	1999
	80
	100
	
	

	2000
	90
	120
	
	

	2001
	105
	140
	
	

	2002
	105
	150
	
	

	2003
	110
	200
	
	

	2004
	90
	220
	
	

	2005
	100
	240
	
	100

	2006
	105
	260
	
	

	2007
	115
	300
	
	

	2008
	120
	310
	
	

	2009
	130
	330
	
	

	2010
	150
	340
	
	


